

RECOMMENDATION TABULATION

ITB #:	FY21-017	Tentative Board Meeting	ng Date*:	MAY 5, 2020										
ITB Title:	FRESH PRODUCE FOR CAFETERIAS	# Notified:	145	# Downloaded: 11										
		# of Responses Rec'd:	2	# of "No Bids":0										
For:	FOOD AND NUTRITION SERVICES (School/Department)	RFP Opening Date :	JANUAR	RY 15, 2020										
Fund:	FOOD AND NUTRITION SERVICES OPERATING	Advertised Date:	NOVEM	BER 20, 2019										
& Warehousing Se adversely affected or intended decisio protest or failure to that "The formal w days during which Director of Procure protesting an intend Broward County, F SBBC Policy 3320	FUND POSTING OF Select One RECOMMENDATION/TABULATION: Select One Recommendations and Tabulations will be posted in the Procurement & Warehousing Services and www.Demandstar.com on JANUARY 28, 2020@ 3:00 pm and will remain posted for 72 hours. Any person who adversely affected by the decision or intended decision shall file a notice of protest, in writing, within 72 hours after the posting of the notice of decisior intended decision. The formal written protest shall be filed within ten (10) days after the date the notice of protest is filed. Failure to file a notice of protest or failure to file a formal written protest shall constitute a waiver of proceedings under this chapter. Section 120.57(3)(b), Florida Statutes, state that "The formal written protest shall state with particularity the facts and law upon which the protest is based." Saturdays, Sundays, state holidays and days during which the District is closed shall be excluded in the computation of the 72-hour time period provided. Filings shall be at the office of the Director of Procurement & Warehousing Services, 7720 West Oakland Park Boulevard, Suite 323, Sunrise, Florida 33351. Any person who files an action protesting an intended decision shall post with the School Board, at the time of filing the formal written protest, a bond, payable to The School Board of Broward County, Florida, (SBBC), in an amount equal to one percent (1%) of the estimated value of the contract. Failure to post the bond required by SBBC Policy 3320, Part VIII, Purchasing Policies, Section N, within the time allowed for filing a bond shall constitute a waiver of the right to protest. (*) The Cone of Silence, as stated in the ITB / RFP / RFQ / HARD BID, is in effect until it is approved by SBBC. The Board meeting date stated above is tentative. Confirm with the Purchasing Agent of record for the actual date the Cone of Silence has concluded.													
*S/WBE CERTII	*MAC EDWARDS PRODUC	CE & COMPANY, INC	Z.											
	MEET THE NEEDS OF THE DISTRICT AND IN THE ED THAT THE AWARD BE MADE TO THE ABOVE													
CONTRACT PERI	OD: AUGUST 1, 2020 THROUGH JULY 31, 2023.													
Ву:	Laríssa Seda (Purchasing Agent)	Da	ate: Jan	uary 28, 2020										
	(I dichasing Agent)													

The School Board of Broward County, Florida, prohibits any policy or procedure which results in discrimination on the basis of age, color, disability, gender expression, national origin, marital status, race, religion, sex or sexual orientation. Individuals who wish to file a discrimination complaint, may call the Executive Director, Benefits & EEO Compliance at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

BROWARD PRODUCE BID SHEET - MARKET BASKET (Addendum 3)

MAC EDWARDS PRODUCE & COMPANY, INC.

COMPANY CALCULATED FIELDS DERIVED FROM BIDDER INPUTS REPRESENTATIVE FIXED FEE FOR ALL PACKAGE SIZES BEING BID APPROXIMATE PURCHASE VOLUME - POUNDS PRODUCE COST PER POUND WGT AVG GEO PACKAGE SIZE IXED FEE FIXED FEE JUL/AUG/SEP OCT/NOV/DEC JAN/FEB/MAR OCT/NOV/DEC Q2 AN/FEB/MAR Q3 DLVD COST PRFF WGTD COST PRODUCE TOTAL ITEM Q1 POUNDS Q2 POUNDS Q3 POUNDS Q4 POUNDS Q1 Q4 Q3 FACTOR POUNDS PER POUND EXT COST TOTAL Q2 ITEM Q1 Ω2 Q3 Ω4 Ω4 PER POUND PER POUND SPEND APPLES, WHOLE, RED DELICIOUS 245,000 **1,020,000** US 40 LB TRAY/BAG \$20.75 \$20.75 \$2.75 \$0.62 \$0.52 \$0.52 \$0.07 \$0.604 1,020,000 \$0.536 \$546 244 125 -138 Count \$2.75 US Extra Fancy Grade or higher \$2.7 \$616,369 APPLES, WHOLE, GRANNY SMITH 125.000 175.000 175,000 100.000 575.000 US 40 LB TRAY/BAG \$19.20 \$0.48 \$0.48 \$0.48 \$0.48 \$0.549 2 575,000 \$0.480 \$276,000 \$315,531 40.00 125,000 175.000 175,000 100.000 \$19.20 \$19.20 \$2.7 \$2.7 125 -138 Count US Extra Fancy Grade or higher \$315,531 APPLES, SLICED 135,000 250.000 255,000 185,000 825,000 US 100/2OZ CS 12.50 135,000 250.000 255,000 185.000 \$16.30 \$16.30 \$16.30 \$2.7 \$1.30 \$1.30 \$1.30 \$1.30 \$0.22 \$1.524 2 825,000 \$1,304 \$1,075,800 \$1,257,300 100/2 OZ. Red Delicious, Gala, Braeburn US #1 Grade \$2.7 \$1,257,300 BANANAS 95,000 165,000 175,000 110,000 **545,000** IMPORT 100/120 CT CS 40.00 165,000 175.000 110,000 \$12.43 \$12.43 \$12.43 \$12.43 \$2.7 \$0.31 \$0.31 \$0.31 \$0.31 \$0.07 \$0.380 3 545,000 \$0.311 \$169,359 \$206,828 95.000 100/120 count. Med Green color (# 4) to Green Tip (# 5), first quality \$206,828 BEANS, GREEN, SNIPPED 5,000 10,000 10,000 5,000 US 4/5LB CS 20.00 5,000 \$2.75 \$0.14 \$1,488 5,000 \$1.350 \$6.750 \$7,438 FLORIDA 4/5LB CS 10,000 10.000 \$27.00 \$27.00 \$27.00 \$1.35 \$1.35 \$1.35 US #1 Grade 20.00 5,000 \$2.7 \$0.14 \$1.488 25,000 \$1.350 \$33,750 \$37,188 5 lb Bags \$44,625 CARRETTES, MINI 100/2 OZ. 21,000 35,000 47,000 22,000 **125,000** US 100/2OZ CS 12.50 \$15.00 \$15.00 \$15.00 \$15.00 \$2.75 \$1.20 \$1.20 \$1.20 \$1.20 \$0.22 \$1.420 2 125,000 \$1.200 \$150,000 \$177,500 21.000 35.000 47.000 Prepacked, US #1 Grade \$177,500 CARROTS, SHREDDED 10,000 13.000 15 000 1,000 39,000 FLORIDA 4/5LB CS 20.00 10.000 13.000 15.000 1.000 \$17.00 \$17.00 \$17.00 \$17.00 \$2.7 \$0.85 \$0.85 \$0.85 \$0.85 \$0.14 \$0.988 39.000 \$0.850 \$33,150 \$38 513 US #1 Grade \$2.7 5 lb Bags \$2.7 \$38,513 CELERY STICKS 7.500 6,000 39.500 FLORIDA 4/5LB CS 20.00 \$28.00 \$28.00 \$2.75 \$1.40 \$1.40 \$0.14 39.500 \$1,400 \$55,300 \$60.731 \$2.7 2/5 lb Bags \$2.7 \$60,731 CUCUMBERS, SELECT 25,000 42,000 54.000 38,000 159,000 US 50 LB CS 50.00 25,000 \$13.85 \$2.75 \$0.28 \$0.06 \$0.332 25.000 \$0.277 \$6.925 \$8.300 FLORIDA 50.00 42.000 54.000 38.000 \$13.85 \$13.85 \$13.85 \$2.7 \$0.28 \$0.28 \$0.28 \$0.06 \$0.332 134.000 \$37,118 \$44,488 US #1 Grade 50 LB CS \$0.277 5 lb Bags \$2.7 \$52,788 **62,000** US GRAPES, RED SEEDLESS 12,000 20,000 15,000 9/2 LB BAGS 18.00 12,000 20,000 \$2.75 \$0.92 \$0.15 \$1.069 32,000 \$0.917 \$29,333 \$34,222 \$1.125 US #1 Grade 9/2 LB BAGS 18.00 15,000 15,000 \$17.50 \$17.50 \$2.75 \$0.97 30,000 \$0.972 \$33,750 50/3 oz; 9/2 lb \$67,972 LETTUCE, CHOPPED ROMAINE 33.000 61.000 70.000 34.000 198.000 US 6/2 LB BAGS 12.00 33,000 61.000 70,000 34.000 \$14.50 \$14.50 \$14.50 \$14.50 \$2.7 \$1.21 \$1.21 \$1.21 \$1.21 \$0.23 \$1,438 2 198,000 \$1,208 \$239,250 \$284 625 Chopped coarse for salad US #1 Grade, 6/2 lb Bags \$284,625 LETTUCE, SHREDDED 8,000 10,500 10,000 7,500 **36,000** US 4/5LB CS 20.00 \$13.30 \$13.30 \$13.30 \$0.67 \$0.67 \$0.67 \$0.14 \$0.803 36,000 \$0.665 \$23,940 \$28,890 10.500 US No 1 grade, 1/8" cut 4/5 lb Bags \$2.7 \$28,890 20,000 **92,000** FLORIDA 4/5LB CS MELONS, HONEYDEW CHUNKS 22.000 25 000 25 000 \$32.00 \$1.60 \$1.60 \$1.60 \$0.14 \$1 738 92 000 \$1,600 \$147 200 \$159.850 20.00 25 000 \$32.00 \$32.00 \$2.7 \$1.60 22 000 25.000 20.000 Fresh cut. 1" cubes US #1 Grade. 4/5 lb Packages \$159,850 MELONS, WATER RED HEART 20,000 33,000 FLORIDA 4/5LB CS 8,000 \$24.00 \$1.20 \$1.20 \$1.338 33,000 \$1.200 \$39,600 \$44,138 \$2.7 US #1 Grade, 2/5 lb Packages \$2.7 \$44,138 ORANGES, BULK 100,000 134,000 210,000 145,000 **589,000** US 113 CT CS 40.00 100,000 134.000 \$22.00 \$22.00 \$2.7 \$0.55 \$0.55 \$0.07 \$0.619 234.000 \$0.550 \$128,700 \$144.788 113/125 CT, US Fancy or Choice Grade FLORIDA 125 CT CS 40.00 210,000 145,000 \$12.00 \$12.00 \$0.30 \$0.07 \$0.30 \$0.369 355,000 \$0.300 \$106.500 \$130.906 \$2.7 \$2.7 \$275,694 PEARS, ANJOU 120 COUNT 25,000 20,000 15,000 100,000 US 120-135 CT CS 44.00 20,000 \$23.00 \$22.00 \$21.00 \$2.7 \$0.52 \$0.50 \$0.48 \$0.50 \$0.06 \$0.559 100,000 \$0.497 \$49,659 \$55,909 120 -135 count; US Fancy or #1 grade \$2.75 \$55,909 PEARS, BARTLETT 120 COUNT 10,000 25,000 0 35.000 US 120-135 CT CS \$19.90 \$0.50 \$0.45 \$0.06 \$0.528 35.000 \$0,466 \$16,307 \$18,494 44.00 10.000 25.000 \$22.00 \$2.7 \$2.75 120 -135 count; US Fancy or #1 grade \$18,494 PEARS, BOSC 120 COUNT 10,000 10,000 10.000 10,000 40,000 US 120-135 CT CS 44.00 10,000 10.000 \$23.00 \$23.00 \$23.00 \$2.7 \$0.52 \$0.52 \$0.52 \$0.52 \$0.06 \$0.585 40.000 \$0.523 \$20,909 \$23,409 120 -135 count; US Fancy or #1 grade \$2.7 \$2.7 \$23,409 \$2.7 PEPPERS, MINI, SWEET 5.500 9.000 11,000 7,500 **33,000** US 4/5LB CS 30.00 5,500 \$30.00 \$2.7 \$1.00 \$0.09 \$1.092 5.500 \$1.000 \$5.500 \$6,004 FLORIDA 4/5LB CS 9.000 7,500 \$30.00 \$30.00 \$30.00 \$2.75 \$1.00 \$1.00 \$1.00 11,000 \$0.09 \$1.092 27,500 \$1.000 \$27,500 \$30,021 Fresh, ready to use

COMPANY	
---------	--

MAC EDWARDS PRODUCE & COMPANY, INC.

REPRESENTATIVE	<u></u>														CALCUL	ATED FIE	LDS DER	IVED FR	OM BIDDER	INPUTS									
	FIXED FEE FOR ALL PACKAGE SIZES BEING BID \$2.75																												
	APPROXIMATE PURCHASE VOLUME - POUNDS JULIAUG/SEP OCT/NOV/DEC JAN/FEB/MAR APR/MAY/JUN PACKAGE BID COST															COST PER	POUND			WGT AVG	GEO		PRODUCE						
ITEM	JUL/AUG/SEP Q1	OCT/NOV/DEC Q2	JAN/FEB/MAR Q3	APR/MAY/JUN Q4	TOTAL	SOURCE	PACKAGE SIZE	NET WGT/PKG	Q1 POUNDS	Q2 POUNDS	Q3 POUNDS	Q4 POUNDS	JUL/AUG/SEP Q1	OCT/NOV/DEC J	AN/FEB/MAR A		FIXED FEE PER PKG	Q1	02	O3	Q4		DLVD COST PER POUND	PREF FACTOR	POUNDS	WGTD COST PER POUND	PRODUCE EXT COST	TOTAL EXT COST	TOTAL ITEM SPEND
US #1 Grade, 5 lb Bag	'									•	•						\$2.75 \$2.75												\$36,025
PINEAPPLE PUSH-UPS 2.7 OZ, 50 COUNT PREPACKED	Γ 20,000	54,000	22,000	20,000	116,000	FLORIDA	50/2.70Z CS	8.44	20,000	54,000	22,000	20,000	\$26.50	\$26.50	\$26.50	\$26.50	\$2.75 \$2.75 \$2.75	\$3.14	\$3.14	\$3.14	\$3.14	\$0.33	\$3.467	1	116,000	\$3.141	\$364,326	\$402,133	\$50,020
SPINACH, READY TO EAT	7,500	10,000	12,000	9,000	38,500	LIC	4/2.5 LB CS	10.00	7,500	10,000	12,000	9,000	\$14.32	\$14.32	\$14.32	\$14.32	\$2.75 \$2.75	\$1.43	\$1.43	\$1.43	\$1.43	\$0.28	\$1.707	2	38.500	\$1.432	\$55,132	\$65,720	\$402,133
12/10 OZ BAGS US #1 Grade	7,500	10,000	12,000	9,000	36,500	03	4/2.5 LB C3	10.00	7,500	10,000	12,000	9,000	\$14.32	\$14.32	\$14.32	Φ14.32	\$2.75 \$2.75 \$2.75	\$1.43	\$1.45	\$1.45	\$1.43	φυ.26	\$1.707	2	36,500	φ1.43Z	\$55,132	\$65,720	\$05.700
STRAWBERRIES, FRESH 8/1 lb Containers US #1 Grade	0	0	35,000	10,000	45,000	FLORIDA	8/1 LB CS	8.00	0	0	35,000	10,000	\$0.00	\$0.00	\$12.00	\$8.50	\$2.75 \$2.75 \$2.75 \$2.75			\$1.50	\$1.06	\$0.34	\$1.747	1	45,000	\$1.403	\$63,125	\$78,594	\$65,720 \$78,594
TOMATOES, BULK Red, Medium Firm, US #1 Grade 25 lb Container; 6 x 6	9,000	10,000	15,000	7,000	41,000	US FLORIDA	25 LB CS 25 LB CS	25.00 25.00	9,000	0 10,000	0 15,000	0 7,000	\$16.00	\$13.00	\$13.00	\$13.00	\$2.75 \$2.75 \$2.75 \$2.75 \$2.75	\$0.64	\$0.52	\$0.52	\$0.52	\$0.11 \$0.11	\$0.750 \$0.630	2	9,000 32,000	\$0.640 \$0.520	\$5,760 \$16,640	\$6,750 \$20,160	\$26,910
TOMATOES, GRAPE Fresh, US #1 Grade 12 Container Flat	13,000	19,000	22,000	15,000	69,000	US FLORIDA	12 Container C 12 Container C		13,000	0 19,000	0 22,000	0 15,000	\$15.00	\$12.00	\$10.00	\$12.00	\$2.75 \$2.75 \$2.75 \$2.75 \$2.75	\$1.76	\$1.41	\$1.18	\$1.41	\$0.32 \$0.32	\$2.088 \$1.643	2 1	13,000 56,000	\$1.765 \$1.319	\$22,941 \$73,882	\$27,147 \$92,000	\$119,147
	863,500	1,414,500	1,560,000	1,047,000	4,885,000)			863,500	1,414,500	1,560,000	1,047,000					\$2.75						\$0.000	TOTAL DD	4,885,000 OJECTED SF	END	\$2.0EE 767	\$4,457,694	φ11 3 ,147
																								TOTAL PRO	OULC IED SE	LIND	φ5,035,767	\$4,437,094	

TOTAL POUNDS BID 4,885,000

DELTA 0

BROWARD PRODUCE BID SHEET - MARKET BASKET (Addendum 3) The volume amounts shown are for reference purposes and reflects the historical volume procured in an average year by the district.

PPINC LLC DBA PREMIER PRODUCE

REPRESENTATIVE

CALCULATED FIELDS DERIVED FROM BIDDER INPUTS

PRESENTATIVE															FIXED FEE FOR ALL PACKAGE SIZES BEING BID \$1.00							1.00										
					ME - POUN	DS		_		JUL/AUG/SEP	OCT/NOV/DEC	JAN/FEB/MAR	APR/MAY/JUN							COST PER	POUND			WGT AVG	GEO		PRODUCE					
ITEM	JUL/AUG/SEP Q1	OCT/NOV/DE Q2	C JAN/FE Q		R/MAY/JUN Q4	TOTAL	SOURCE POINT	PACKAGE SIZE	NET WGT/PKG	Q1 POUNDS	Q2 POUNDS	Q3 POUNDS	Q4 POUNDS	JUL/AUG/SEP (Q1	Q2	JAN/FEB/MAR Q3	PR/MAY/JUN Q4	PER PKG	Q1	Q2	Q3	Q4		DLVD COST PER POUND	PREF FACTOR	POUNDS	WGTD COST PER POUND	PRODUCE EXT COST	TOTAL EXT COST	TOTAL SPEI		
APPLES, WHOLE, RED DELICIOUS 125 -138 Count US Extra Fancy Grade or higher	165,000	300,00	0 31	0,000	245,000	1,020,000	US	125-138ct	40.00	165,000	300,000	310,000	245,000	\$31.95	\$31.95	\$31.95	\$31.95	\$1.00 \$1.00 \$1.00 \$1.00	\$0.80	\$0.80	\$0.80	\$0.80	\$0.03	\$0.824	2	1,020,000	\$0.799	\$814,725	\$840,225	\$840		
APPLES, WHOLE, GRANNY SMITH 125 -138 Count US Extra Fancy Grade or higher	125,000	175,00	0 17	5,000	100,000	575,000	US	125 - 138ct	40.00	125,000	175,000	175,000	100,000	\$42.95	\$42.95	\$42.95	\$42.95	\$1.00 \$1.00 \$1.00	\$1.07	\$1.07	\$1.07	\$1.07	\$0.03	\$1.099	2	575,000	\$1.074	\$617,406	\$631,781			
APPLES, SLICED 00/2 OZ. Red Delicious, Gala, Braeburn US #1 Grade	135,000	250,00	0 25	5,000	185,000	825,000	US	100 / 2oz	13.00	135,000	250,000	255,000	185,000	\$26.95	\$26.95	\$26.95	\$26.95	\$1.00 \$1.00 \$1.00 \$1.00	\$2.07	\$2.07	\$2.07	\$2.07	\$0.08	\$2.150	2	825,000	\$2.073	\$1,710,288	\$1,773,750			
BANANAS 00/120 count. Med Green color (# 4) to Green Tip (# 5), first quality	95,000	165,00	0 17	5,000	110,000	545,000	IMPORT	100 - 120 ct	40.00	95,000	165,000	175,000	110,000	\$20.75	\$20.75	\$20.75	\$20.75	\$1.00 \$1.00 \$1.00 \$1.00	\$0.52	\$0.52	\$0.52	\$0.52	\$0.03	\$0.544	3	545,000	\$0.519	\$282,719	\$296,344			
BEANS, GREEN, SNIPPED US #1 Grade 5 lb Bags	5,000	10,00	10 1	0,000	5,000		US IMPORT	2 / 5 lb 2 / 5 lb	10.00 10.00	2,500 2,500	5,000 5,000	5,000 5,000	2,500 2,500	\$20.00 \$20.00	\$20.00 \$20.00	\$20.00 \$20.00	\$20.00 \$20.00	\$1.00 \$1.00 \$1.00 \$1.00	\$2.00 \$2.00	\$2.00 \$2.00	\$2.00 \$2.00	\$2.00 \$2.00	\$0.10 \$0.10	\$2.100 \$2.100	2	15,000 15,000	\$2.000 \$2.000	\$30,000 \$30,000	\$31,500 \$31,500			
CARRETTES, MINI 100/2 OZ. Prepacked, US #1 Grade	21,000	35,00	10 4	7,000	22,000	125,000	US	100 / 2oz	13.00	21,000	35,000	47,000	22,000	\$21.85	\$21.85	\$21.85	\$21.85	\$1.00 \$1.00 \$1.00 \$1.00	\$1.68	\$1.68	\$1.68	\$1.68	\$0.08	\$1.758	2	125,000	\$1.681	\$210,096	\$219,712			
CARROTS, SHREDDED US #1 Grade 5 lb Bags	10,000	13,00	10 1	5,000	1,000	39,000	US	4 / 5 lbs	20.00	10,000	13,000	15,000	1,000	\$26.60	\$26.60	\$26.60	\$26.60	\$1.00 \$1.00 \$1.00 \$1.00	\$1.33	\$1.33	\$1.33	\$1.33	\$0.05	\$1.380	2	39,000	\$1.330	\$51,870	\$53,820			
CELERY STICKS US #1 Grade 2/5 lb Bags	7,500	12,00	10 1	4,000	6,000	39,500	US	4 / 5 lbs	20.00	7,500	12,000	14,000	6,000	\$30.80	\$30.80	\$30.80	\$30.80	\$1.00 \$1.00 \$1.00 \$1.00	\$1.54	\$1.54	\$1.54	\$1.54	\$0.05	\$1.590	2	39,500	\$1.540	\$60,830	\$62,805			
CUCUMBERS, SELECT US #1 Grade 5 lb Bags	25,000	42,00	0 5	4,000	38,000	159,000	US IMPORT	5 lbs 5 lbs	5.00 5.00	12,500 12,500	21,000 21,000	27,000 27,000	19,000 19,000	\$5.95 \$5.95	\$5.95 \$5.95	\$5.95 \$5.95	\$5.95 \$5.95	\$1.00 \$1.00 \$1.00 \$1.00	\$1.19 \$1.19	\$1.19 \$1.19	\$1.19 \$1.19	\$1.19 \$1.19	\$0.20 \$0.20	\$1.390 \$1.390	2 3	79,500 79,500	\$1.190 \$1.190	\$94,605 \$94,605	\$110,505 \$110,505			
GRAPES, RED SEEDLESS US #1 Grade 50/3 oz; 9/2 lb	12,000	20,00	10 1	5,000	15,000		US IMPORT	9 / 2 lbs 9 / 2 lbs	18.00 18.00	6,000 6,000	10,000 10,000	7,500 7,500	7,500 7,500	\$29.00 \$29.00	\$29.00 \$29.00	\$29.00 \$29.00	\$29.00 \$29.00	\$1.00 \$1.00 \$1.00 \$1.00	\$1.61 \$1.61	\$1.61 \$1.61	\$1.61 \$1.61	\$1.61 \$1.61	\$0.06 \$0.06	\$1.667 \$1.667	2 3	31,000 31,000	\$1.611 \$1.611	\$49,944 \$49,944	\$51,667 \$51,667	\$22 \$10		
LETTUCE, CHOPPED ROMAINE Chopped coarse for salad US #1 Grade, 6/2 lb Bags	33,000	61,00	0 7	0,000	34,000	198,000	US	6 / 2 lbs	12.00	33,000	61,000	70,000	34,000	\$20.95	\$20.95	\$20.95	\$20.95	\$1.00 \$1.00 \$1.00 \$1.00	\$1.75	\$1.75	\$1.75	\$1.75	\$0.08	\$1.829	2	198,000	\$1.746	\$345,675	\$362,175			
LETTUCE, SHREDDED US No 1 grade, 1/8" cut 4/5 lb Bags	8,000	10,50	10 1	0,000	7,500	36,000	US	4 / 5 lbs	20.00	8,000	10,500	10,000	7,500	\$19.45	\$19.45	\$19.45	\$19.45	\$1.00 \$1.00 \$1.00 \$1.00	\$0.97	\$0.97	\$0.97	\$0.97	\$0.05	\$1.023	2	36,000	\$0.973	\$35,010	\$36,810			
MELONS, HONEYDEW CHUNKS Fresh cut, 1" cubes US #1 Grade. 4/5 lb Packages	22,000	25,00	0 2	5,000	20,000	92,000	US	4 / 2.5lbs	10.00	22,000	25,000	25,000	20,000	\$33.10	\$33.10	\$33.10	\$33.10	\$1.00 \$1.00 \$1.00 \$1.00	\$3.31	\$3.31	\$3.31	\$3.31	\$0.10	\$3.410	2	92,000	\$3.310	\$304,520	\$313,720			
MELONS, WATER RED HEART Fresh, ready to use US #1 Grade, 2/5 lb Packages	0	5,00	10	8,000	20,000	33,000	US	4 / 2.5 lbs	10.00		5,000	8,000	20,000		\$34.45	\$34.45	\$34.45	\$1.00 \$1.00 \$1.00 \$1.00		\$3.45	\$3.45	\$3.45	\$0.10	\$3.545	2	33,000	\$3.445	\$113,685	\$116,985			
ORANGES, BULK 13/125 CT, US Fancy or Choice Grade	100,000	134,00	0 21	0,000	145,000	589,000	US	100 - 125 ct	40.00	100,000	134,000	210,000	145,000	\$20.00	\$20.00	\$20.00	\$20.00	\$1.00 \$1.00 \$1.00 \$1.00	\$0.50	\$0.50	\$0.50	\$0.50	\$0.03	\$0.525	2	589,000	\$0.500	\$294,500	\$309,225			
PEARS, ANJOU 120 COUNT 20 -135 count; US Fancy or #1 grade	25,000	20,00	10 4	0,000	15,000	100,000	US IMPORT	100 - 135 ct 100 - 135 ct	35.00 35.00	12,500 12,500	10,000 10,000	20,000 20,000	7,500 7,500	\$34.50 \$34.50	\$34.50 \$34.50	\$34.50 \$34.50	\$34.50 \$34.50	\$1.00 \$1.00 \$1.00 \$1.00	\$0.99 \$0.99	\$0.99 \$0.99	\$0.99 \$0.99	\$0.99 \$0.99	\$0.03 \$0.03	\$1.014 \$1.014	2 3	50,000 50,000	\$0.986 \$0.986	\$49,286 \$49,286	\$50,714 \$50,714			
PEARS, BARTLETT 120 COUNT 20 -135 count; US Fancy or #1 grade	10,000	25,00	10	0	0	35,000	US US	100 - 135 CT 100 - 135 CT	35.00 35.00	5,000 5,000	12,500 12,500			\$35.50 \$35.50	\$35.50 \$35.50			\$1.00 \$1.00 \$1.00 \$1.00	\$1.01 \$1.01	\$1.01 \$1.01			\$0.03 \$0.03	\$1.043 \$1.043	2 2	17,500 17,500	\$1.014 \$1.014	\$17,750 \$17,750	\$18,250 \$18,250			
PEARS, BOSC 120 COUNT 120 -135 count; US Fancy or #1 grade	10,000	10,00	10 1	0,000	10,000		US IMPORT	100 - 135 CT 100 - 135 CT	35.00 35.00	5,000 5,000	5,000 5,000	5,000 5,000	5,000 5,000	\$39.45 \$39.45	\$39.45 \$39.45	\$39.45 \$39.45	\$39.45 \$39.45	\$1.00 \$1.00 \$1.00 \$1.00	\$1.13 \$1.13	\$1.13 \$1.13	\$1.13 \$1.13	\$1.13 \$1.13	\$0.03 \$0.03	\$1.156 \$1.156	2 3	20,000 20,000	\$1.127 \$1.127	\$22,543 \$22,543	\$23,114 \$23,114			
PEPPERS, MINI, SWEET Fresh, ready to use	5,500	9,00	10 1	1,000	7,500	33,000	US	12 / 8oz	6.00	5,500	9,000	11,000	7,500	\$21.95	\$21.95	\$21.95	\$21.95	\$1.00 \$1.00	\$3.66	\$3.66	\$3.66	\$3.66	\$0.17	\$3.825	2	33,000	\$3.658	\$120,725	\$126,225			

COMPANY
DEDDECENTATIVE

PPINC LLC DBA PREMIER PRODUCE

CALCULATED FIELDS DERIVED FROM BIDDER INPUTS REPRESENTATIVE FIXED FEE FOR ALL PACKAGE SIZES BEING BID FIXED FEE DLVD COST PER POUND PER POUND APPROXIMATE PURCHASE VOLUME - POUNDS
 Q3 POUNDS
 Q4 POUNDS
 JUL/AUG/SEP Q1
 OCT/NOV/DEC JAN/FEB/MAR
 APR/MAY/JUN APR/MAY/JUN Q2
 FIXED FEE PKG
 JUL/AUG/SEP OCT/NOV/DEC JAN/FEB/MAR APR/MAY/JUN Q1 Q2 Q3 Q4 PACKAGE SIZE NET WGT/PKG Q2 POUNDS ITEM Q1 Q2 US #1 Grade, 5 lb Bag \$1.00 \$1.00 PINEA

US #1 Grade, 5 lb Bag																\$1.00												
																\$1.00												\$126,225
PINEAPPLE PUSH-UPS 2.7 OZ, 50 COUNT	20,000	54,000	22,000	20,000	116,000 US	50 / 2.7 oz	8.43	20,000	54,000	22,000	20,000	\$38.65	\$38.65	\$38.65	\$38.65	\$1.00	\$4.58	\$4.58	\$4.58	\$4.58	\$0.12	\$4.703	2	116,000	\$4.585	\$531,839	\$545,599	
PREPACKED																\$1.00												
							_									\$1.00												
																\$1.00												\$545,599
SPINACH, READY TO EAT	7,500	10,000	12,000	9,000	38,500 US	12 / 10oz	7.00	7,500	10,000	12,000	9,000	\$22.60	\$22.60	\$22.60	\$22.60	\$1.00	\$3.23	\$3.23	\$3.23	\$3.23	\$0.14	\$3.371	2	38,500	\$3.229	\$124,300	\$129,800	
12/10 OZ BAGS																\$1.00												
US #1 Grade																\$1.00												
																\$1.00												\$129,800
STRAWBERRIES, FRESH	0	0	35,000	10,000	45,000 FLORIDA	8/1lb	8.00			35,000	10,000			\$22.95	\$22.95	\$1.00			\$2.87	\$2.87	\$0.13	\$2.994	1	45,000	\$2.869	\$129,094	\$134,719	
8/1 lb Containers																\$1.00												
US #1 Grade							_									\$1.00												
																\$1.00												\$134,719
TOMATOES, BULK	9,000	10,000	15,000	7,000	41,000 FLORIDA		25.00	4,500	5,000	7,500	3,500	\$28.95	\$28.95	\$28.95	\$28.95	\$1.00	\$1.16	\$1.16	\$1.16	\$1.16	\$0.04	\$1.198	1	20,500	\$1.158	\$23,739	\$24,559	
Red, Medium Firm, US #1 Grade					IMPORT	25 lbs	25.00	4,500	5,000	7,500	3,500	\$28.95	\$28.95	\$28.95	\$28.95	\$1.00	\$1.16	\$1.16	\$1.16	\$1.16	\$0.04	\$1.198	3	20,500	\$1.158	\$23,739	\$24,559	
25 lb Container; 6 x 6							_									\$1.00												
																\$1.00												\$49,118
TOMATOES, GRAPE	13,000	19,000	22,000	15,000	69,000 FLORIDA		10.00	6,500	9,500	11,000	7,500	\$16.55	\$16.55	\$16.55	\$16.55	\$1.00	\$1.66	\$1.66	\$1.66	\$1.66	\$0.10	\$1.755	1	34,500	\$1.655	\$57,098	\$60,548	
Fresh, US #1 Grade					IMPORT	12 / 1 pint	10.00	6,500	9,500	11,000	7,500	\$16.55	\$16.55	\$16.55	\$16.55	\$1.00	\$1.66	\$1.66	\$1.66	\$1.66	\$0.10	\$1.755	3	34,500	\$1.655	\$57,098	\$60,548	
12 Container Flat																\$1.00												
																\$1.00												\$121,095
	863,500	1,414,500	1,560,000	1,047,000	4,885,000			863,500	1,414,500	1,560,000	1,047,000											\$0.000		4,885,000				

TOTAL PROJECTED SPEND

\$6,437,211 \$6,695,408

TOTAL POUNDS BID 4,885,000

DELTA